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ifit TRIEG
int ECHO
int BUZZ =
void setupl
{
pinMode (TRIG, OUTPUT) ;
pinMode (ECHO, INPUT) ;
pinMode (BUZZ, OUTPUT) ;
Serial.begin(9600) ;
}

]

2
3
8
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]

void loopl)

{
digitalWrite(TRIG, LOW);
delayMicroseconds(2);
digitalWrite (TRIG, HIGH) ;
delayMicroseconds (10) ;
digitalWrite(TRIG, LOW);
int distance = pulseIn(ECHO, HIGH):
ant em = Q.01723 * digbanee;
serigl.printl "Distance in em = ")
Serial.println(cm) ;
if (oM ©2338)

{

digitalWrite(BUZZ, HIGH) ;
}
else
{

digitalWrite(BUZZ, LOW);
|
delay(100) ;
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izig PIR = &
void setupl
{
pinMode (3, OUTPUT) ;
pinMode (2, INPUT) ;
Serial.begin(9600) ;

) pir buzzer

¥
void loop()
{
int movement = digitalRead(PIR) ;
Serial.print("Obstracle = ");
Serial.println(movement) ;
if(movement == 1)
{
digitalWrite (BUZZ, HIGH):
}
else
{
digitalWrite(BUZZ, LOW) ;
§
delay(500);



ant BLIZZ = 33
ing FPIR = 2
void setup
{
pinMode (3, OUTPUT) ;
pinMode (2, INPUT) ;
Serial.begin(9600) ;

)

}
void loop()
{
int movement = digitalRead(PIR) ;
Serial.print("Obstracle = ") ;
Serial.println(movement) ;
if (movement == 1)
{
digitalWrite(BUZZ, HIGH) ;
3
else
{
digitalWrite(BUZZ, LOW) ;
}
delay(500) ;
¥
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// C++ code

£

it LED=12;

it PIRP4in=T:

int 1sObstacle=LOW;

void setupl()

{

pinMode (LED,OUTPUT) ;

pinMode (PIRPin, INPUT) ;

Serial.begin(9600) ;

void loop()
{

PIR SENSOR

isObstacle=digitalRead (PIRPin) ;
if (isObstacle==HIGH)

{

Serial.println("Obstacle detected");
digitalWrite(LED,HIGH) ;

}

else

{

Serial.println("Clear path no obstacle"

digitalWrite (LED,
}
delay (1000) ;

LOW) :

¥
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int LIGHT =

int FAN = 9

int PIR = 2:

int TMEF = AQ;

vaoid setupl)

{
pinMode (B, OUTEUT) ;
pinMode (9, QUTEUT):
pinMode(d, INPUT):
pinMode (AD. INPUT):
Serial.begin{9600):

B

light fan

;

voxd leoopl)

{
int movement = digitalRead(PIR):
int celsiuse = mapl{ (analogRead(AD) - 20} * 3_.04},
int fahrenheit = |{celsius * ) / & + 312);:

Serial.praint(celsius);
neriglipripnt(® €5, "ila
Serial.print(fahrenheit);
Serial,.print{® F. ")
Serial.print{movement ) ;
Serial.printlnl{" movement®):
1fleelsiuas >=35)

i
digitalWrite(FAN, HIGH) :

o [t
[}
1]
il

digitalWrite (FAN, LOW);
]

if (movement == 1)

{
digitalWrite(1IGHT, HIGH) ;

else
L
digitalWrite (LIGHT, LOW):

i
delay (1000 ;
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int Ledpinid = A3
int Ledpind = 143
int Ledpin3d = 312

void setup()

{

pinMode (Ledpinl, OUTPUT) ;
pinMode (Ledpin2, OUTPUT) ;
pinMode (Ledpin3, OUTPUT) ;

void loop!( )

{

digitalWrite(Ledpinl,

delay(3000);

digitalWrite(Ledpin?2,

delay(1000) ;]

digitalWrite(Ledpin3,

delay(1000) ;

digitalWrite(Ledpinl,

delay(500) ;

digitalWrite(Ledpin?Z2,

delay(500) ;

digitalWrite(Ledpin3,

delay(500)

digitalWrite(Ledpinl,

delay(1000) :

digitalWrite(Ledpin?2,

delay(1000) ;

digitalWrite(Ledpin3,

delay(5000) ;

digitalWrite(Ledpin3,

delay(1000) ;

HIGH) ;

LOW) ;

LOW) ;

LOW) ;

HIGH) ;

LOW) ;

LOW) ;

LOW) ;

HIGH) ;

LOW) ;
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C++ code

int LDR_PIN = AOQ;
ine LED. PIN = 12:
int LDR_Val = 0O;:

void setup()

{

}

pinMode (LDR_PIN, INPUT) ;
pinMode (LED_PIN, OUTPUT) ;
Serial.begin(9600) ;

void loop()

{

LDR_Val = analogRead(LDR_PIN) ;
Serial.print("LED Value = ") ;
Serial.println(LDR_Val);

if (LDR_Val > 50)
digitalWrite(LED_PIN, HIGH) ;
else

digitalWrite(LED_PIN, LOW) ;
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[/ €++ code
//
it TRIG
int ECHO
int BUZZ =
void setupl
{
pinMode (TRIG, OUTPUT) ;
pinMode (ECHO, INPUT) ;
pinMode (BUZZ, OUTPUT) ;
Serial.begin(9600) ;
}

2
3
8
)

: ultrasonic buzzer

void loopl|)
{
digitalWrite(TRIG, LOW);
delayMicroseconds(2);
digitalWrite (TRIG, HIGH) ;
delayMicroseconds (10) ;
digitalWrite(TRIG, LOW) ;
int distance = pulseIn(ECHO, HIGH):
qprt em = @, 01723 * distance;
Serial.print("Distance in em = ");
Serial.println(cm) ;
if (ot ==335)
{
digitalWrite(BUZZ, HIGH) ;
}
glse
{
digitalWrite(BUZZ, LOW);
}
delay(100) ;



e e S T e T e T

B BB BB B BB D B

i IO v e RS P s SRR

k3 e ad
Pd

Lad

80 =] O N = L

Lt Ll Ll Lsd Lad

2 N = LB e

0D =] O o bl i) = DD ]

Bl i N

[H i Y]

.
i

il

)

F/ C++ code
£
int LIGHT =
int FAN = 9;
int PIR = 23
int TMP = AD:
void setupl)
{
pinMode (&, CQUTPUT} ;
pinMode (9, OUTPUT) :
pinMade (2, INPUT);
pinMode (AD, INPUT):
Serial,.begin(9600) ;

}

void loopl)

{
int movement = digitalRead{PIR);
int celsius = mapl{(analogRead(AD) - 20} =*
int fahrenheit = {({celsius * 9) / 5 + 32);

Sserial.print{celsius);
Serjel.print{® . "}
Serial.print(fahrenheit);
serial.printy' B, "5
Serial.print(movement]) ;
Serial.println({" movement"’):
1flcelsius >=35)

{
digitalWrite{(FAN, HIGH):

i
else
{
digitalWrite(FAN, LOW) ;
i
if({movement == 1]

i
digitalWrite (LIGHT, HIGH) ;
[}
else
{
digitalWrite(LIGHT, LOW):

}
delay (1000 ;
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Text v ¥ 1 (Arduino Uno R3)

£ Cr+ gode

el
i int threshold_wvalue = 0:
4 1int celsius = 0:

5 4dnt fahrenheit = 0:
int R_LED = 4;

) void setup()
10| {
155 pinMode (A0, INPUT) ;

13 Serial.begin(9600);

16 pinMode (R_LED, OUTPUT) ;

void loop()
EZ threshold_value = 35;
24 celsius = map(((analogRead(A0) - 20) * 3.04), 0, 1023, -40,
26 fahrenheit = ((celsius * 9) / 5 + 32);

28 Serial.print(celsius) ;

. Befial.pedat(™ €&, "j:
Serial.print(fahrenheit) ;
Serial.println{ " BF"):

if (celsius > threshold_value)

34 {
35 digitalWrite(4, HIGH) ;
36 1
20 else
' {
digitalWrite(4, LOW);

}
41 delay(100);
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int LED=12:

int PIRPLin=T:

int 1sObstacle=LOW;

void setupl()

{
pinMode (LED, OUTPUT) ;
pinMode (PIRPin, INPUT) ;
Serial.begin(9600) ;

void loop()
{
isObstacle=digitalRead(PIRPin) ;
if (isObstacle==HIGH)
{
Serial.println("Obstacle detected");
digitalWrite (LED,HIGH) ;
}
else
{
Serial.println("Clear path no obstacleée"):
digitalWrite(LED, LOW) ;
}
delay (1000) ;

1 (Arduinc



05:38 ™ © a8 W % S . 77% @D

@ tinkercad.com/

Servo_Motor
18 davs ane

LED control_PIR sensor

Tinker this

Door_open_close LED_slideswitch



